LZB-3wBL U 0 OO0 oouoooonnd

gogn LzB-3wBL DL dgogoooooogd
godn gooobooobooodd
HEN 65.00/0
goon goono:d
go:0oo
0 O :LZB-3WB
goon goobbobbooooooboon
ERERERN 0519-85260826 15295150668
ot

0000000000000000000,00000000000000000000000000
0000000000000 00000000000000000000000000000000
0,00000000000000000000000000000000000000000000
00000000000:0000000000000000000000000:00000:3000
0.000000,000000000M00bzj000000000000000000000000
0000000000000 00000000000000000000@0000)000Ogd
J1zb/()flz-()f 0000000000000 00000000000000000000000000
0000000000000 00000000000000000000000000000000
000000000000 000000000000000000000000000000000
000000030 00000000000000000000000000s000000a0000
00000s000a0000000000¢g00000000000000000000000000
000000000000 000000000200:gd-lzb/izb-()f0 00
O00000000@O04000dns0000000000000 0000000000 gd-lzj/lzj(
Yooooo
00000000000000000@O04000dno00000000000000000000
O000O0dns000000000000000000000000000000000 Izb0wh)O
O00000IRZOWI0OOODO0O0000000000000000000000000000304
0 Leri8nioti),0 0 O gd-lzb-Ob0 000000 0 03160 0 0 0 O gd -lzb-(

YooO OOCOO0OOO00OOpted 00 OO gd -lzb-(

Bf(Dboh), 0000000000000 0O00O00O000O0Optte) 000000000000

zZbOOOOoood

Izb-O00OwbD OOODOOOO



ODO00000000RMzODODODOOO0ODOOAO Izb/z)

gooo
Izb/Iz OO O O0O0o0oOdnd

Izb/lZyD 00 O lzb/lzj-()f0 000000000

dn4[ 10 dn150 100
ooooo
Izb/Izj dn4501 10 Izb/Izj dn1507 100
oood
0 oo oo oood oo ooodd ooooooon
00 0 ogd
O dn( O 0O 200 (mm Izb/lzj [1zb-(Oflzj-(] OO (O) 0 O (mpa)
mm) ) )
4 |lzb-4lzb-4f{10:1|10 10I/h1.600 16{16[1 160l/h25(1 2] 100 25 2.5:4 -200 #120 <1
I/h2.50 25I/h | 501/h400 4001/h
6 |zj-61zj-6f 2.500 251/h40 4014000 4001/h60C 6 2.5 254
I/h6d 60I/h  |001/h1000] 10001/
h
10 |lzj-10lzj-10 60 601/h1000 1010000 10001/h160| 160
f 0l/h1600 1601/h |10 16001/h25001 2
500I/h
15 |lzb-15Izb-1 1600 1601/h250 [0.250 2.5/h0.40 350 2.5 < 0.6
5f 2501/h400J 4001/] 4/h0.60 6/h
h
25 |lzb-25Izb-2 400 4001/h60 O | 100 10/h1.600 16/ 15
5f 6001/h10000 100] h2.500 25/h
0l/h




40 [Izb-40Izb-4 16000 16001/h25] 401 40/h601 60/h | 430
of 00J 25001/h
50 |lzb-50Izb-5 0.400 4/n0.60J] 6/|100J 100/h1607 16| 450
of h 0/h
80 |Izb-80Izb-8{10:1 1[0 10/h1.600 16/5000 250/h80C1 40[ 500 <04
of 51 h50 25/h 0/h
100 |Izb-100Izb-| 5:1 {500 25/h80 40/h(12011 600/h200[]
100f 1200 60/h 1000/h
O00000000000o0oooooOoOoonnoooeo/mho
oo 0n
OoOdo0o0dn RN 0o
a b c d e m n
4 Izb-4 36 171 119 43.5 145 714 RN
6 Izb-6
10 Izb-10 43 244 178 208 ?16.5
15 Izb-15 795 470 765 715 4-714 RN
25 Izb-25 7115 285 725
40 Izb-40 7145 570 7110 740 4-718
50 Izb-50 7160 7125 750
80 1zb-80 7185 660 7150 780
100 Izb-100 7205 7170 2100

gobbobbbouggogbbbbbboddwze-swBh ool ooolsgdoooon

[J 120


http://www.tcpdf.org

